*01. SR R 12 + (12 + 22) 4 (12 + 22 + 32) + -~ upto n terms.

n(n+1)(2n+1) _

03.

05.

06.

07.

AR 0 SF o, up = 17 + 22 o voeove e p? = TEDEED = 2 (n 4 202 + 2n%)

=1 1 241 3 _ 1 n(n+1) | 1 n(n+1)(2n+1) , 1 n?(n+1)?
S ﬁZn+=En +3E“ =% 2 T3 6 +3 4

=§n(n+1)[1+2n+1+n(n+1)}=11—z(n+1)(n2+3n+2)=%n(n+1)(ﬂz+2ﬂ+n+2)_

=0+ 1)@ +1)(n + 2) = Zn(n + 1)%(n + 2) (Ans.)
a=1+2]—k a@1b =j-1-2k (covemme vy @ Fdr =11

T |a] = V1422 + (12 =V6; |b] =17+ (D2 +(-2)2 =6

a.b = 1x(—=1) + 2x1(=1)x(=2) =3; a8 b T TYRS T4 6 T a.b = [a||b|cos6

= 58 _ 3 1 . B—ane-1d_gpe
:’msehlallhl_ﬁﬁql " 0 = cos z—-6{3 (Ans.)

AN F92 cosB + sinf = V2

. N 3o VI ox "o
HAYH: cos® + sin® =2 = —=cos8 + —=sin@ = % = sin_cosd + cos ;sind = 1

=sin(;+0)=1=2+0=(n+1)Z = 0= (4n+1)2—%=2nm+Z (Ans.)
Wcﬂfﬁﬁﬁ?@‘ﬂﬁmﬁtﬁﬁ’fﬁ‘ﬁﬂﬁ 50 yards (9 949 75 feet%ﬁmﬂmﬁﬂ‘wmm
SOy S | Gl AT sifStes @ Mesae @R 3w [dy o)

FAYE: €7, W SifS u @32 AT @1«

r
550 =7 =222 = 50x3 = u’sin2a = 100x32x3...... (i) u
2 ein?
qR75=H=" 521: = u?sin?a = 150x32 ... ... (ii) ( 75ft
T50R

. sina 150
(ii) = () 919, 2sinacosa  100x3

(i) TS, u?sin90° = 300x32 = u = 97:98 ms™?
Wix/T+y +yVIFx=0aRy # x WM TR, L= — L

TR VI +x+yVI+x=0=x/T+y =yVI+x=x*(1 +y) = y2(1+ %) = %% + x2y = y2 + xy?
=>x*—y?=xy? =%y S X+PE-Y) =xyy—x)=> x+y) = xy>x+y=—x

=tana =1 = a = 45°

— = -X _ 1 , dy _ 1
Y= o= 1+x "“dx  (14%)?

X O3 ATATF fAeaa T 250t +3s ”:ﬁz’:}

(O L x X142 L f xP-1 2
WI (x+1)? dx = IE (x+1)? dx=e {(:m:+1}2 T (IHF}dx

= Je Gt amm o= fe (@)= E e
[ [le* {f(x) + F(x)}]dx = e*f(x) + c] (Ans.)

R4S {2 @i PR ofom T T 76 T7 IAITFTH 2, 3 GR AP GB T x2 + 4x + 5 = 0 STRAF T
g 28 35 AR TS, x2 — (2 +3)x+2x3=0 = x2—5x+ 6= 0

-, v v gare ANFe4D, (x2 — 5% + 6)(x2 + 4x+5) = 0

= x* + 4x3 + 5% — 5% — 20x? — 25X + 6x% + 24x+ 30 =0 = x* — x3 — 9x%2 — x + 30 = 0 (Ans.)

m'.'::l:_ -F-.- .‘ r.-' | :'; r;l ;. ' ;I.l'- !-.'. .I ll.-II
e L 'L Tl L [ i |




09.

10.

11.

L ek W iy i
ARSIy L L tet £ -

08. I &R X WL 31 1 777 7oy Wit et Baw )

|1 2 3 213 1 3 —4 |1 2 O
MDI|5 6 7|=|6 5 7 (iDlz2 8 3|(=|3 8 -2
8 7 6 7 8 6 0 -2 5 -4 3 5
X! —y? x4y X
(iii) Cofactor (&%) of 2 in I‘; i‘is (-3) (v)| x—y 1 1]=0
X—y 1 y
1 2 3 2 1 3
@ (S 6 7|=-]6 5 7| [(-) ozt oam ]
B 7 6 7 B 6
) 1 3 -4 1 2 0
()2 8 3|=|3 8 —2| [y
0 -2 5 -4 3 5
(iii) et
x*—y? x+y x X+y x+y X
(iv) | x—y 1 1l=x-y)| 1 1 1l=0 .. 99
X=y 1y 1 1y

*ivds 5t AB @7 Bo PN =171 PN @3 iy fiefy <711 SRR @ w3l 0aa sTilleadt (A 2 10 N oes AB @
=M |

Pr(10,14)

A B
[—10—
X , ¥y _ 70 \2
FTAYI: AB GRIF AT, —+ - = 1 Wﬁwvr,(x—lﬂ)z+@—l4)2=(ﬁ)
= 16x + 10y = 160 = 8x + 5y = 80 = x2 — 20x + 100 + y% — 28y + 196 = 20
. PN = |Bx1045x14—80| = ﬂ >
o PN =—"r—= V89 = 89x? 4+ 89y* — 1780x — 2492y + 21444 = 0 (Ans.)

VX + /¥ = Va 3R 3 31 FA wTte w91 Sow s, AR @3 garE srraeE = g ek =) e

A VX + .y =Va

=Vx=va—.,fy S

4
_—_;.x=3+y—2\f§ ¥ x—-y=0 a0 )
= (x —y —a)? = 4ay ﬁ‘ﬁx—y=ﬂnﬂ3{ﬁ+ﬁ=ﬁ qGg (BRI |
= x? + y? + a% — 2xy + 2ay — 2ax = 4ay W—tﬂﬁwe,a,x ‘EIWCE'fTﬁ"li
= (x — y)? = 2ay + 2ax — a’ (a,0), YSCF &< (0,a),

— (x—y)? = a(2y + 2x—a) . FA0 9T ~AIE|
Ima=2 b=1+V3 C=60° TF, O fagaio T4 F3

c?+a-bZ _ 6+4-1-24/3-3

z 2_nd
atb®—c *. cosB =

A4 cosC = 2ab 2ca 2xv6x2
1 44143+2V3-c? _6=2y3 o .
— O = cosB = ~B=

- A=180—(B+ ()
o A =180 — (75 + 60) = 45° (Ans.)

— 4+ 43 = 16 + 4V3 — 2c”
—~2c2=12=c2=b =c=6

Bl ) i ———




13.

14.

15.

16.

17.

18.

mi © o
e 2oamef Rfr s [ [lm Ul:lwl]

stwr (C |2 — — = (! azfl_1 Let,logx =z = , z = log2
"rE [In[!x Ungx'}":l dx 'ﬁugze (1 :1) dz B KR &85 2508

= x = e* = dx = e*dz x=eq A, z=1

Elun:
Ins:z { +_ ( )] = [—]lﬂtﬂ Iugz Togz E_ﬁ (Ans.)
W x2+px+q=0 QR X2 +qx+p=0 FNTIGHT 90 AlyRd T A, ST 2"+ (p+q—2)x=
(p + q — 2)? TR 7 [Refq w11

AR, TR T =a | Sptq=-1[a=1] = 2x2 —6x+3x—9=0

Lal+pa+q=0 WRR &WS A, =2x(x—3) +3(x—3)=0
~at+qa+p=0 22+ (p+q—-2)x=(p+q—2)2 =x—-3)(2x+3)=0
o a 1 = 2x? — 3x = (-1 - 2)? LX=3, X= —% (Ans.)

P ap  a-p
a=1 a=—-(p+0q)
(1,2) GRRMEE G TG x-9TrFE P 30| 29 AT @ -5 (T3 & o ot cqw wed oy Rfa e

S S =2, e, (x—1)2 +(y—2)2 =22 x2 +y?—2x—4y+5=4
—x2 +y? —2x—4y + 1= 0; SCF M = 2 /(-2)? — 1 = 2V/3 (Ans.)
X2 + 4x + 2y = 0 *FRCEA T @ mrs wllew {fa )

=2x2—-3x—-9=0

FAYA: X2 +4x+ 2y =0 MERX=0>x+2=0=>x=—
—x2+4x+4=—-2y+4 Y=03y-2=0y=2 -4 (-2,2)
=-(x+2)2=—2(y—2)=4x123(y—2) wﬁﬁq,y—2=%ﬂy=%[ﬂns.)
= X? = 4aY; a=—%

5x2 + 9y? — 20x = 25 TAEA 7 € TAFrEd gAIF AT T

FAY: 5x% + 9y? — 20x = 25 @memez=1_:_:=1_§=§,_e=§
5(x*—4x+4)+9y* =45
el §+4)+% x—2=iae=ax—2=i3x§=bx=4ur.x=ﬂ

= 5(x—2)?+9y* =45

12
= &2 +’:=1 -, @5 (2,0) (Ans.)

- BoEH (4,0) @ (0,0)

7 x¥ .y* =a? O = tﬂamﬂarﬁa?ﬁu

AAIYA: x¥ .y* = a* = yIlnx + xIny = lnazzay.iﬂnx +55’i+1ny 0

== (lnx+ )= -—(lny+ )::ri— %Eﬁ (Ans.)

20 4T G3F 7T BT | e 20 713 e @35 st G Samsst s« Sieein ¢ s g3f

fOres B zE B 3 Wort 5 7 offwe Rea FeA! Rdw ¥4
T 38 5 a9 ofdfSs e ot A @ BT A = (3,6,9,12,15,18} B = {5, 10, 15, 20}

AN B = {15} .. P(AUB) = P(A) + P(B) — P(AnB)——+%—-ﬁ-—zu(An)




19.

20.

21.

23.

24,

25.

*26.

27.

TS @, (P IGF PAST 11.2 ks~ WWWWWWWWWWW
BT AT 1 <RI TWEE = 6.4%106m :

ST L& @, v, = /25K = VZx9.8x6.4%10¢ = 11200ms~* = 11.2kms~1(Ans.)

936 3BT BT 30ms-1 2AfeF @Ot I 79 e er=) N 999 = 103kgm ™3 @3 ARG ALATT YT Y
= 1.3x107% 1 IR ATHOR el 1fiy 1.8x10~5S1 @I ZW, O IR @I IS Fefw T

AN St i, v == 2 fzg(p-ur)—# 30=2 T 2x9.8(103-1.3) A THg= 1.3x10~3p
=5
" 7 el = 1.3 x 10~3x10° = 1.3 kgm™3

"r=498x 104 rn(Ans )
QTS FIF RT-2MIT 1.12 litre I G I (i) cm?www GTRA F@? (i1)27°C SENEy & e
%WW'?WWT{WW 8.314 Jmole~ 1K1
TR (1) ST 724t = ——:-c 6.022x102% = 3.01x10%2(Ans.)

3 RT 3 x
(i) 1% fefE, K =2 X = == x :;;:ann; = 6.21x107%? Joule/molecule. (Ans.)

qFo 57 SR 15“cvs‘rﬁmmzamtrﬁﬁmmﬁ o= T BRIAM 2O TG CIe | T T, Siefuial F© I

JEOIEETIFd I vy=1.4

1y 1y
T ST @A, P,Y Ty = P,Y T, @A, Ty = 15°C = 298K @33 P, = 2 atm

1-14

= Tz=T (]-;f =288 x (2) ™ = 236.26K SI*Ta 25T I = 288 — 236.26 = 51.74°C (Ans.)

CTNG C( *IT1H Sigo! T T 1 (BRI R0 o0 O =% Slgel *oar 26 S7 2fRHfe® 37|
ww-awﬁam CITOITSI TT TR, 8 1, QA B|gS I S, € S, T,
51—1010g 52_10193_ SE—SI_Iﬂlug-—-:lﬂlﬂg-——'izbl—z—-IZG_,aIz 14 ?

11 14
iy ‘WWW— 26% (Shown)
qF16 72 &0 A= Ry SR @Ife wwg[ 0.20°1 56 ufoa wurin yag [Ady 391 I95e e war o

= 5700A°

Y St SifF, S I S mena S ST SREE S, n = 0
x10—10
dsing = (n+3)A=d = =200 = B.16x10 °m(A)

GFB coArBARTefiTR oI R 21 Fa F@ W R @ &5 6m @ fr=w & <hext ¢ie | corafoa
Tsﬂm*ﬂcﬂ Rk ﬂﬁ@ﬂﬂ@ﬁﬁ4m‘iﬁﬁ“’ﬁ?ﬁ‘i%ﬂﬁ[ﬂl o7 e @y ey )

R r = 2R =R =1x3=3 . r=15Q | £ =6m, & =4m, R=3Q, r=7

mmﬁqw wmmﬁﬁlﬁ@w (0°C) mmwmnﬁmﬂmmmﬁww@mﬁ@wwqﬁ
2, ©ItF E = 240 — 0. 04 e2 BT ST T S0 (i) s ot @e (i) Seaw wiomrat fdg .

24

ST FRers o, 5o = 0= 24 —2x 0.046,, - 8, =—="— = 300°C
g, 6, —”*‘E" - 0, = 20, = 600°C

8.3 x10” ms™? msﬁ%ﬂﬁﬁmﬂﬁ'ﬁﬁ?mwwﬂa aﬁlﬁa
CaiBE ©F = 1.67265x107%7kg, ¢ = 3x10°ms™] TR RAL G

[ ma _ 2 _ | 167265x107%7 _
FTATYFA: By = (m — m,) € = ( = mﬂ) C Ji (a.m})’ 1.67265x107%7 | x (3x10%)? = 6.115x107%2]
“\3xa0¥

1 -27 V2 — = .
v2 = =_x1. 67265x107%"x(8.3x107)* = 5,76x10 12 . B _ 6115x10712 _ —_—

w\‘ _,B 223 ﬁi& HL

Ey (FT1eF) =

MIH




28.

30.

31.

*32.

33.

34.

35.

36.

78.4m Bf @I FOI (UF OO WWW (RQIGT 27T | Wm ST (AT 60m Ta Bfee e
oG | *IAMD T TN 7 BT GTT we? & Tiors «ieRft it zrfee? [sfesde ged, g = 9.8ms™]

STrYT: 4R, t 5T EifEE - gt? = 78.4 = ——;;-

AT v @I . t=4sec, vt =60=v = T= 15 ms~1(Ans.)

B I YR TFO! = Bt ST IR 65°C FHIEA 7o 5 2 wiol Tl @ O alrRrd ot [T )

ST 4R, 1ot BT @ i SiRTed SIeiwial T SRR, = 1T > =

T,K € T;K O, =37, —195=2T; ..... (ii)

t= 11— =2 8T = 6T . () (i) @ (ii) = T, = 390K @3 T, = 325K (Ans.)
1

Tl T WS FAANE JIFS UIH AT NS 250 watt TeoF FTa | TS AP O 20m 8 30m 7FLH T
CIFS! TS IR? W2 10m GF I =THF | ST FORT ZFT AI?

TR SR S, 1= — SIgoT ST 2, . R R ARTeT = df

20m & O, 1, - 2(5: - — 4.9%10-2wm™2 - dp=10 lug:—i =10 lﬂgﬁ

30m FE ST, I, = —2°_ = 2.2x10~?wm-2 = —3.47 (BFI=1 . 3.47 dp T SIS

47x(30)2

1.5 efrs RfHE o3 e See @ IFeR JEIE IUFT 20cm @ 25cm A 5 AfSRTER TS ET=iiee
FIFTT G F© A?

T = e =15 = 1125
Fy 3
== (wr,—1) (3-2) = @125 -1 (5+5) - fiw = 8889cm

GFEA [0 gieT iea 0 [ vag 8 99 99 a9 IUFTT 10cm 8 15cm. TS Fae! H=F @757 I
FAET LA IE B (TS AN IR O ™8 W ooy ag 39 31?
YA 2 == +> D ==— == f=—15cm = ~0.15m FIO = —— = —6.67D T IA@ T ™8 WA

f f a
1 1 1 1 1 1

fFelbet fagu g &, - — - =<= ——— = - =——— . u=30cm (Ans.)
TR () mwmﬁmﬁ%wmﬁﬁﬂﬂ%%wmmgﬁmm?
T Eg _ 1 _ (m-mg)c® 1 m-mg _1_, mp _ 4

'ﬂm’E_szb mc2 _5=> m _Eme_E

_ v 4 ___-.rz_:[a v_3 , _ 8 -1
= |1 c1—5='1 il Rk s.v=0.6C=18x10°ms

r YT GG GRTF (G St F51 FA0E 7751 T4 Ol @Y IS FI?
AY: 4f, 2T @ FOI8 @MY R, 8 R, SIKHE, OIEEE SiTey ot

Rz _pfz Ay _#2 Ay
R]_Az Hp{l-—ri ﬂz—BKB g Rz—Rlxg—gr(AHS) I 'EIAI_ 'BEAZJ :ﬂ_::?;.‘_E

40cm A1 @R 4cm JFNETE 200 2T G AT Wi -odE R sg p =1
2
TAY: L = pn2fA = 1xp n?£A = 1x4x3.14x107x (%) x0.4x3,14x(0.04)? = 6.31x10™* Henry (Ans.)

S T TR 24 @I 2.5m 18 2 R ST, S0 G (A 2.5m @ 4T ST e AR SR
H2PIR e 4R T #itf et T (et T ST A (@9 TR <R ofowaE = 1.33

SAAYF: Asm s O, SIS B, @ = 45° - 133 =22 . r=70.13° (Ans.)

sin4s

2.5m




37.

38.

39.

40.

41.

42,

43,

3°C A ST X

RYTER “IMTRCT SO 519 102.0 kPa @3 SI9Ial 15°C. TSIREs i Sl —2

mmmw ﬁﬂﬁﬁﬁﬂ”ﬁ@’fﬁﬁﬁﬁl

.P1__ — ﬂ -
A — T Tz =P, =P x 102 x B88.54 kPa

{1 BIToF A ~idaT = 101.325 — 88,54 = 12.78 kPa (Ans.)
0.480g GTICHIY TRCGIHIECST SoNT B<et BI3CE0 $aCs T HCl «F 34.28 mL B ATIEH 2, O HC1 G3te«
F?

STRI4I: NaOH + HCl = NaCl + H,0; 2fif® HCl &9 &7 = 2= = 0.438gm

__ 0.43Bx1000
. HCl @3 Sy = 22229502 . 0.35M (Ans.)

(a) IR AT TA G0 QETGITEH SACHR gt 2.8x10™°mol L™
(i) T pH 997 (i) TR &t [Fae?
FANYE: (a) (i) pH = —log[H*] = —log(2.8x107°) = 4.55  (ii) AR pH < yAER:EGITAC IR
(b) 5z Teasl IE 20% Na, €0, T3 7T crenfzit fofEe 341
(i) 0.9M (i) 1.88M (iii) 2.82M  (iv) 3.76M
T (b) (i) o x> =2 x 55 = 1.88M
G5B TI2IR BB TS I 72 0 fbe RTeEr Ni(NO,), TR Bt W4y fca 5.0amp e 30 ff45
{Ca B 91 21 (RIS B SeiferT craree 7.0 cm? (IR BN SAF G AN B [T AT

TG SN T [Ni-aF AR ©7 = 58.7 G Frrer Ao SeAies o g = 1.4]

Mit EE.?H.EHED:IED]
AAHA: W = —= = 2.74gm
w nF Zx96500 2.7 g

g, W= Axtxp[t-ﬂﬁtf]—qt"——- —— = 0.28cm (217) (Ans.)

5mMFe?* FfET® @6 7P Cet* T BIREGDE T4l =71 BIRGHT @3 #{1Ty 1m M Fe®* tofsi 271 25°C
SN S @IET 2. AT 9F. (Epe2+/pea+) TR 91 (A OTZ- EL 2+ o3+ = 0.770V.

3+
AAYMA: Ege2+ jpe3t+ = Edenn — ok — log [Fe 1_ _0.77- ﬂ1 og (5) = —0.729 volt (Ans.)

[FeZ*]
aﬁ@wmﬁaﬁgﬁﬁ@a@mm 8 TR ©F TR | QAT NG AR_EHR{E o7 &5 3991
HAYI: Abundance: 90.92% 0.26%  8.82%
Isotopic mass: 19.99 amu 20.99amu 21.99 amu

. 51_@ Wﬂ i 90.92x19.994+26x20,99+B.82x21.99 = 20.169 amu (Ans )

100

(2) * AFNTS FOf6 d-IF Gl |MR? {17 TS 9 T 2R 8 CfF GIE ¥ i, I 32 AR
SURGET

(b) FAT5a d-73 Cienefed FIRefe T9g@a 4I1g 79 3L (F=? Co,Zn and Fe

TR (a) < TRACS 37 T d-3F GNe TR 1 24T et FReA, ARef{a 720 21 e (Sc) ofF Gl

fsmREE (ML), s A4t 109.

(b) Zn SRFA GIIET T8 | T Zn-43 JFS Zn?* ST SA01 10 B Zernge arat =5

(a) Fiesa Tl @We e e & WA «F eldis BT 52 €0, NO, H,S, Co

(b) @ GG YTGR A &7 T *F1 (AT H, 1711 FiofS a0 =i H, Refam sroiffe st spiltaet® Bt
TAY: (a) GG BT T NO, WA | F 24T B TEREE 91 2H,0 + 4NO, + 0, 4HNO,
(b) Pb ; 2Pb + 2NaOH + 4H,0—> 2Na,Pb0; + 5H, 1

30 8 IEEICIGE RIS (e TR R T T




46.

47.

48.

49,

50.

FTAII: 10mL STSTE T TSI 9 T | <———— [

a1

(a) fesa @RIG Fris (o) I9 T2

(i) o0 (ii) 0O (iii) OO Vi § B
(b) s b p-Sf<ieT wFfo?

V(i) o0 (ii) O (iii) § iv) 3
(c) SHITTAAT GRest TRBITEH AT @ FEF 7T T, ©f of%es T

(i) sp V(ii) sp’ (iii) sp’d (iv) sp’
(a) FAwsa & SRR TG R S=eAwrr? [Ans: ii]

W DDOODD ZDODDDD
Nolololole Wolololole

ST BT NS S, 1s 6 2s TRGI 9 287 27 2p SRRGIE HRE WYol TIZH e TR
(b) 5T 17 o7 e ©fF 45! ZERGEA IRLA I QN A5 FA?

(i) Na (ii) Mg (iii) Ca V(@) K
(c) GTTTIE BTt IRICET oo e <4t I ?
(i) H,S V(ii) NH; (iii) PH, (iv) CO,
o THIROGEE FIAT YOI B9 W89 91 Al,03, SO, and Na,0
A4 Al,05: Al; 05 + HCl = AlCl; + H,0 (=) Na,0 : Na,0 + H,0 — 2NaOH (a43)
Al,0; + 2NaOH — 2NaAlO, + H,0 (S/54¥) ~. Na,0 (Sig F=¢d)
- AlLO,; (Teui)

SO, : SO, + H,0 - H,S0;, (wrsedll) ... SO, (Sl

ASIAS FRNFACIT AR e Sy FTit FAIgo 6T affcra 3671 711

TAY: 9 OF 3 GIIE HCL '8 1 G HNO, X069 At SN @ ifae Tooy =1 @ WENW R A (Au) G
fAfEFat AuCl, I3 7169 I 1 @ 739 ST HCl @ A1, T& T G e affie (HAuCl,) B9 3|

3HCI + HNO, - 2NOCI + 2H,0 + 2[Cl] (i)x3
2Au + 6[Cl] = 2AuCl; ...... (if); 2AuCl; + 2HCl - 2HAuCl,

(a) fRtsa am Aot s $144 SR?
| ] ] |

(i)b-{::—h ([i)b—C—c «J(iii)b—tlz—d (iv)h—(ii—d
AT ST 15t efel areret for for eamdt < 3@ |
(b) ftee 1M TR fFfoTe Fdmiorm?

(i) HsC* (ii) (CH3).C*H (iii) H,C* — CHj V(iv) (CH3)5C*
(c) froe v e sp? FALfae T4 Aty (R?

(i) CH; — CH; — CH, — CH, \(ii) CH, = CH — CH = CH,

(iii) CH, = CH — CH, — CH; (iv) CHz — CH, — CH = CH,

AAIS AT ASITH FR AUGHL...




51.

52.

53.

4.

55.

56.

T ALTS C;HEﬁtﬂA‘GBEWIWMIWE@@WWFWWW?@W@WEQ%W ﬁfﬁ

G B I 11 A 8 B 07 5o b & 572

H H H CH;—CH>
o \/

FAYA: A @S Wi @ B clelfe sifFe wteitdw1 H—-C—C=C—H CH,
1!1 B IR R
A-resifom—3

fFrafiRe RitmrefTs Sesy 327 e GMIZ (4, B and C) 97 TSR A o

CH3CDUH NH..,-—saltdIstL. A Er;+HaDH} o CHEI;+N3DH*

IR A - JYFNRE (CH,CONH,)

C — fiZs syifi| (CH; — NH,); C - fIIZe SZe ARG (CH; — N = C)

AT G0 @Wﬁ%ﬂw it AR W S [T orams )

COOH
KHnﬂ.,
T [0] + @ [KMnQ, + OH~ - K,Mn0, + H;0 + [O]]
Wm AEiE affrs
(a) TCost cP1ATB ST w3772
HzC - CH,»
| |

(i) H;C— CH, (i) CH; — CH = CH — CH3

(iii) CH, = CH — CH, — CH, V(iv) CH; — CH, — CH, — CHj

(b) e AP T_W?

(1) Ca-salt of long-chain fatty acid (ii) Mg-salt of palmitic acid

\(iii) Na/K salt of long-chain fatty acid (iv) Al salt of stearic acid

A

Change the following sentences as directed:
(a) She dislikes coffce but she drank it to keep herself warm. (Use despite)
Ans.: Despite disliking coffee, she drank it to keep herself warm.

(b) We must work very hard to win the first prize. (Make it a compound sentence)

Ans.: We must work very hard and we will win first the prize.
(c) How long I shall stay here is doubtful (make it a simple sentence)
Ans.: I am doubtful about my duration of stay here.

(d) The farmer ploughed the land well before sowing the seed (use after in past perfect tense)

Ans.: The farmer sowed the seed after he had ploughed the land well.
(e) You must submit to the will of God. (Make it negative)
Ans.: You cannot but submit to the will of God.
Change the narration of the following:
a) Mr, Jabbar said, "T used to take tea.”
Ans.: Mr. jabbar said that he used to take tea.
(b) He said, "I shall do it now."
Ans.: He said that he would do it then.
(c) He said, "Bravo! You have played well."
Ans.: He applauded me saying that I had played well.

(d) The mother wished her son's success in the examination.
Ans.: The mother said to her son, "May you succeed in the examination!"

(e)

"Do you always go to your office wearing trousers and carrying an umbrella?" Alam said to me.
Ans. : Alam asked me if 1 always went to my office wearing trousers and carrying an umbrella.
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Fill in the blanks with appropriate preposition:
(a) I never thought of playing at cards.

(b) He ran along the road.

(c) 1 do not approve of your action.

(d) Exercise is conducive o health.

(e) He persists in disturbing me,
Translate the following into English.
(a) SR Q0! T Ty TR |
Ans.: To slander others is a great sin.
) ETH! N T IR @F g wEe A
Ans.: Man cannot know anything without being curious.
(C) (THR ©S FWAM BT N WHTAS T QT |
Ans.: Mother gave a flash of smile of joy hearing the happy news of her daughter.

() TR S GIIATR A 0T QoS I SHferel e |
Ans.: Hard labour is needed to built the real '‘Sonar Bangla'.

(€) T CoiY G0 TR G|
Ans. Patriotism is a great virtue,
Make sentences with the following:

(@) Open wide: The door was wide open.
(b) Bury the hatchet: After not speaking to each other for years, the two brothers decided to bury the hatchet.

(c) Lay heads together: Lay heads together means to think something 1n a group.
(d) End in smoke: All efforts ended in smoke.

(¢) Scot free: They got off scot free because of lack of evidence.
Read the following passage carefully and tick (V) the corresponding box to choose the correct or the best one from

the four answers following each question.
Trees are useful to man in three very important ways. They provide him with food and other products; they give him

shade; and they help prevent drought and floods.

Unfortunately, in many parts of the world, man has not realized that the third of these services is the most important.
In his eagerness to draw quick profit from the trees, he has cut them down in large numbers, only to find that with
them he has lost the best friends he had. Two thousand years ago, a rich and powerful country cut down its trees to
build warships, with which to gain itself an empire. It gained the empire but without its trees, its soil became hard and

poor. When the empire fell into pieces, the country found itself faced by floods and starvation.
(a) Drought means-

(i) heavy rainfall (i1) less rainfall (iii) excessive sunshine  (iv) lack of rainfall
(b) One of the important reasons of cutting down the trees by man is-
(1) illiteracy v(ii) tendency to draw quick profit
(ii1) necessity (iv) whims
(c) Trees help the soil-
(i) to soften (ii) to loosen (iii) to harden (iv) to tighten
(d) Afier cutting down trees the rich country faced-
(i) famine (ii) natural calamities (iii) flood V(iv) famine and floods

(e) The country gained-
(i) wealth (ii) warship V(ii) the empire (iv) trees




